PLATE JH=-3570

DESCRIPTION

/7 B //
Y
// B \\ /
/ 4
I i, O
\'
HINS!
i<
m
e prf =—_Y Ls™s 1
- (1) #1k D D
‘\1‘ = Y — Y (Y —Y"'
—
s | i
1\‘ = g ”\ s rl
" e A
6
4 ?A’ 9
ORDER REFERENGE
IN ORDERING SPECIFY PIECE NUMBER AND
DESCRIPTION SHOWN BELOW
PIEGE NO. REF DESGRIPTION PIEGE NO. REF
JH=-3570I A TWIN LAMP UNIT ASSEMBLY COMPLETE JH-35730 18
WITH LAMPS REFERENCE 20.
JH-35702 A2 TWIN LAMP UNIT ASSEMBLY COMPLETE JH-36245 19
WITH LAMPS REFERENGCE 20a.
JH=-35703 A3 TWIN LAMP UNIT ASSEMBLY COMPLETE
WITH LAMPS REFERENGE 208. JH-35641 20
JH-35704 Aa TWIN LAMP UNIT ASSEMBLY COMPLETE
WITH LAMPS REFERENGE 20c. JH-35642 20a
JH-35705 As TWIN LAMP UNIT ASSEMBLY COMPLETE
WITH LAMPS REFERENGE 20bp. JH-35643 208
JH-35706 Ae TWIN LAMP UNIT ASSEMBLY COMPLETE
WITH LAMPS REFERENGE 20€. JH-35644 20c
JH-35707 A7 TWIN LAMP UNIT ASSEMBLY COMPLETE
WITH LAMPS REFERENGCE 20F. JH-35645 200
JH-35710 Ao TWIN LAMP UNIT ASSEMBLY
LESS LAMPS. JH~-35646 20€
JH-35711 2 BAKELITE BASE.
JH-35612 3 BASE SUPPORT. JH-35647 20F
JH-35713 4 LAMP SOCKET COMPLETE WITH LEAD WIRE
REF. 18, SPRING REF. 16 AND WIRE TERMINAL
REF. 12, FOR SINGLE CONTAGCT BAYONET
BASE LAMP.
JH-35714 4A LAMP SOGKET STAMPING ONLY.
JH-35616 S MACHINE SCREW No. 8-32x1|" RD. HD.
JH-35617 6 MACHINE SCREW No.8-32x3/8" RD. HD.
JH-35618 5 ; LOCK WASHER 3/16".
JH-35619 8 SPECIAL LOCK WASHER 3/16".
JH-35620 9 BRASS WASHER No. 8.
JH-3562! 10 HEX.BRASS NUT No.8-32.
4H-35722 1] TERMINAL CONNEGTING LINK.
JH=35723 12 GCOPPER TERMINAL FOR No. 8 SCREW.
JH-35724 13 HEX. BRASS NUT 7/16-20x 1/4" THICK.
JH~-35725 14 HEX. BRASS NUT 7/16"-20 x 5/32 " THICK.
JH- 35726 15 SPECIAL LOCK WASHER 7/16".
I~ 35727 16 BRASS COIL SPRING.
JH-35728 17 BAKELITE WASHER.

LEAD WIRE AND BAKELITE WASHER
ASSEMBLY 3-1/4" LONG. '

ADAPTER BUSHING TO FIT .610" DIA. HOLE
(FOR USE OF LAMP SOCKET REF 4 IN OLD
TYPE LAMP UNITS.)

SINGLE GONTAGT BAYONET BASE LAMP
10-VOLT .25-AMP. G-2 FILAMENT S-11 BULB.
SINGLE GONTAGT BAYONET BASE LAMP
10-VOLT 5-WATT S-11 BULB.

SINGLE GONTACT BAYONET BASE LAMP
8-VOLT 13&3.5 WATT SIGNAL PREGISION.
SINGLE GONTAGT BAYONET BASE LAMP

6-8 VOLT 2I1-G.P S-10 BULB.

SINGLE GONTAGT BAYONET BASE LAMP

6-8 VOLT 32-C.P S-10 BULB.

SINGLE GONTACT BAYONET BASE LAMP

115- VOLT 15- WATT S-11 BULB.

SINGLE CONTACT BAYONET BASE LAMP
13.5-VOLT .25-AMP S-I| BULB.

NUMBER JH-3570
TWIN LAMP UNIT ASSEMBLY
FOR TWO WAY INDICATION
WIGWAG BANNERS

MAGNETIC SIGNAL Co.

LOS ANGELES,CALIF.

Digitally signed by Zachary C.
Gihan

Zachary C.ogpmc o
Gillihan

DRAWN BY (Bfenle
APPROVED g/~

SCALE FuULL
DATE 2 -19337.

om,c=Us

0500




	Magnetic_JH3570

		2013-07-24T05:42:31-0500
	Zachary C.  Gillihan




